Apartment in Qormi



Qormi, Central



€265,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): **78**

Reference No: 240271020-188

Bedrooms: 2

Apartment - For Sale - Qormi

QORMI - APARTMENT - Located in a quiet residential area yet close to all daily needs. Situated in a smart and elegant block. Property consists of a good size Kitchen/Living/Dining, 2 double Bedrooms (Master with En-suite), guest Bathroom, Laundry room and a good size terrace. Being sold in advance shell including all aperatures, terrace floor tiles, railings and main door. Call your preferred agent to set up a viewing.

Features

- ✓ Lift
- Gypsum Plastering
- Double Glazed
- Balcony

- Electricity Utility
- Skirting
- Terrace

Rooms

- Kitchen/Living/Dining: 7.5 x 4.5 m (33.75 m2)
- ✓ Double Bedroom : 3.9 x 3.2 m (12.48 m2)
- Double Bedroom : 5.18 x 3.5 m (18.13 m2)
- ✓ Bathroom : 2.48 x 1.5 m (3.72 m2)
- ✓ Shower Ensuite : 2.48 x 1 m (2.48 m2)
- ✓ Open Space : 5 x 1.5 m (7.5 m2)
- ✓ Box Room : 2 x 0.94 m (1.88 m2)

Gallery











Gerald Ancilleri RE/MAX South - Marsascala

M: 99746504

E: gerald@remax.com.mt

T: 21555000

RE/MAX South - Marsascala 53,Triq is-Salini, Marsascala, Malta